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Last time the topic of the
presentation was the
straight-line method of
calculating depreciation.




In this presentation

we O | | cover
two main methods

that are much less
commonly used.




Firstly, the units of production method.
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This Is especially suited
to the depreciation of
equipment that Is used
In a manufacturing
processee.




ée.since the al}”lﬁ’ﬁn“‘~t\ o f
depreciation that is |
charged in an
accounting period Is
directly related to the
output of the machinery
or equipment during that
time.




There are three components to the
calculation;

1 the cost of the equipment




2 its expected total unit
output over its useful
life

3 any residual value the
equipment may have
at the end of its useful
life




Let 0s use the same
we used In the straight-line example
to illustrate how the units of
production method works.




If you recall, the
equipment cost
100,000 and had
an estimated
residual value of
20,000, leaving us
with a depreciable
value of 80,000.




But with the units of production
method, the useful life is determined
by units produced by the equipment
rather than by time, as was the case
In our straight-line method example.




So, | et O0s
the directors of the
business estimate
that the equipment
will produce 40,000
units before it has
to be scrapped.




We can now calculate what the
depreciation amount will be for each unit
produced, using the following formula;




The depreciable value

Y
80,000

40,000

estimated total units of production




This means that each time the equipment
produces one unit, there will be
depreciation of 2 accounted for as an
operating expense.




At the end of the accounting :
period, the total number of units 4

produced during the year is 1
multiplied by 2 to arrive at the
total amount of depreciation for .
that piece of equipment for that
year.




Secondly, the other
method of calculating
depreciation is called

the reducing balance
method




The reducing balance
method Is suited to
those assets that
qguickly become
technologically
obsol et eeé.




eéé. or whi ch
greater proportion of
their productive value
In the early years of
ownership.




In this method the directors of the
business select a percentage of the
value of the asset that will be applied In
each accounting period to calculate
depreciation.




The three components of this calculation
are;

1 the cost of the asset




2 Its expected useful life
measured by time

| 3 a percentage of the
value that will be
applied annually to
depreciate the asset
over Its expected useful
life



Going back again to
our example of a
piece of equipment
costing 100,000 and
with an expected
useful life of 5
year see.




é . . | saytthatsthe directors decide to
depreciate it at 50% per financial year
and, to keep things ¢
that the business acquired the equipment
on the first day of the financial year.




In the first year, the
amount of depreciation
would be calculated as

follows:



